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OUTCOME R13 - Review

1. Graph each function. The graph of y = +/x is provided as a reference.

a)y=vx—3+2 b)y =2/—-(x+4)
(¥19)> X43,Yt2) [ (xy)> (-x-4,2v)
c)y=—-/x—-3 d)y=—/-2x—-4
: N=-\-2(x42) p .
(x14)>(*,-Y-3) (fuu)> (-3%-2,-Y )
e =
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2. Match each function with its graph.
a)y=2Vx—1 P b)y =—-2Vx—1 A
c)y=2vx—1 c d)y=2/=(x - 1) B
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3. State the domain and range of each function.
a)y=+V—-x—4 b)y =4vVx —4 c)y=—Vx—4+4 d)y = —/4x
N L ® . T ?‘ . Nk N=>0)
Domain: Xné@ Domain: “K= 4 Domain: “K ?""' Domain: "A=0

Range: gi-ﬂ— Range: W=0 Range: ,‘if"’** Range: _Y=0"
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4. For each function, write an equation of a radical function of the form y = a\/b(x — h) + k

R S ' B [Yr
5= \b(8-3) +3

...... /(/6_; 26l
ami (2+(6tn)” Y= 1) +3

&= (1)

© A

or
4=b =20 %-2 +3

xY

b) W:=3 k=0

" Y= {o(x-h+k

2= \{b(2-3)

T 2Tt = -40e3)

2
2 B (2:2))] (2)73 (\] b(—l))

(1
o) § 27 03)

4 2 0 j ¥ -4=b
Y
C) h--5 k=0 Y= b +k
) I = {b(-3+5)
JO
PR e R 1=\b(2)
= 0
-4 —2 0 ; 3 6 X )
Y \l b(2)
2
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5. Given the graph of y = f(x), graph y = ,/f(x) on the same grid. State the domain
and range for both y = f(x) and y = \/f (x)

T y=fx) Domain: ‘REIR

Range: }{JG[P.

y =4/f(x) Domain: X-4

Range: =0
NI

b)y = —(x + 2)* #9

y=f(x) Domain: NEIR

o Range: W=
3J
" y=4f(x) Domain: =DrENS)
! { |
i “ Range: 0 =24 <3
/ {
f |
1 }
c)y = (x—5)%—4
\ ]
i i y=f(x)  Domain: Xe R
I
Range: Y2==
i yal ange 3
/iRy
1/ y=4/f(x) Domain: '(g-w,3] V[3e2)
Range: W20~
J




MPC40S Pate:
d)y =x? X y=f(x)  Domain: M€’
{ ]
3 /
y=f(x Domain:_ KER
Range: __ W20
I
e)y = —(x + 5)2
y=f(x)  Domain:_ K&l
Range: ! <0
Nelko! y=f&x) Domain:_‘h=5
\
A A Range: _4=0
] \
] 1
\
¥
y=f()  Domain:_ Y&l
!
Range: _ =%
. y = Jf(x) Domain: _ W&i@
Range: ‘\ﬁ & li
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6. Identify the domain and range of y = /f (x)

a) f(x) =x2-16 b) f(x) =x%+5 c) f(x)=2x*+9
Domain (.M‘—Li.-) V (A’l&) Domain _ (év‘ ¢) » Domain (’v )
Range: [0 lga ) Range: [J—gl 00) Range; [3\ w)

7. For each point given on the graph of y = f(x), does the corresponding point on the
graph of y = \/f(x) exist? If so, state the coordinates of the point.

a) (9,14) b) (p,7) c) (—2,9) d) (-32,-1)
(‘l,‘ﬁ;}) (Ptﬁ) F273) does o} exict

8. Write the equation that can be used to find the point of intersection for each pair of
graphs.

A &

a) b)

Yx42 =2 =1 42 = =% 45
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9. Solve each equation algebraically.

a)-3Vx+2+4=1

-3{¥12=-3
-3 -3
42 = |

x12) (y?
Xt2 = |
k==

X2-2

Date:

Chec X =-

LRS

RHS

~3\42 4
-2{\ +4
-3t4
( v

LS =
RHS

“The solubson is X =-1

- X223
b) f;(3x—2) -

(Ea2)) > (1

3 (3%-2)= |
3x-2:2
3% =4

3 3

Check X = 4|z

L 1S RHS

L) | !

LHS = pUs

The splukion is X - 43
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10. Solve each equation algebraically.

z-4
a)\/m+8=x Ch,ECk_ X:lz check X: 5
Xty = X-8 LHS RHC Lks
(Vxt4)%= (x-&)? ot 4= ) 2 rall B
i b +% 1 +2
Wt = X X + ot 41 S B
0= X130 12 v LI
0= (X-12)(x-5) Lhs=Pie ”*;:S
= |2 =
r=12, X>é5><*raneous
The <olution 1S X=12
X=-0
b) x = VX ¥ 10 + 2 theck -0 Check X=-1
x.z._ X‘HD L{;Q PHS LHS ‘Z-HS
(%2) (WXt )? ‘J‘;{lgi T2 -1 Pl Ho 2
2
XERtd = X+D 4 i+
) 2 242
X-5X -l = 0 L v b x| 5y
(X-L)(x+1) =D Hhs =R LU RN
% b, x3KI
‘ é‘ﬂranms

The solution 18 X=0b
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11. Given the radical equation vx + 2 = 3

a) Solve by finding the point of b) Solve by finding the x — intercept of a
intersection. single function.

(y+2=3
2 -3 =0

¢ The w\ukon is :
Y= The solutim is
"=%
12. Solve the following radical N
equation 2vx + 3 = x + 3 graphically. x4 3
“The Solutions ave =
X=-3 ong K=

E
b




